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Pythagorean Theorem and Transformations Practice

Use the Pythagorean Theorem to solve the following problems. Drawing pictures is always helpful!
Show all work and round answers to the nearest tenth.

1. Marc wants to support a tree with a 6-foot wire that is attached to the ground 3 feet
from the base of the tree. How high up the tree will Marc be able to put the wire?
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2. Dabhliais trying to figure out the length of a staircase she will need for a deck that is 12 feet high.
She wants to start the stairs 21 feet from the deck. How long will her staircase need to be?
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3. Inaright triangle shaped house, the roof is 51 feet long (yes, it comes down to the ground) and
the base of the house is 29 feet across. Calculate the height of the house at its highest point.

a.zzf‘bz:‘czz ‘\rgz =\ 0
0 +l§ i =420 e heucele L8
+ph®:=
B et 2l a9 feek . B E|
bZ=17L0 29

4. At an evergreen farm, the taller trees are braced by wires. A wire
extends from 2 feet below the top of the tree to a stake in the
ground. What is the tallest tree that can be braced with a 25-foot
wire staked 15 feet from the base of the tree?
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7.

angle, is it an obtuse or an acute angle?
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What is the length of the line on the graph
below?
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6. Do the following measurements represent the sides of a right triangle? If there is not a right

8. What is the distance between the points

(7,2)and (3,9)?
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9. Prove whether or not triangle ABC is a right triangle.
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Perform the following transformations. (#s 10-15)

2 units left, 4 units up Reflection across the x-axis Rotation 90° counter-clockwise
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16. Graph the image of rectangle ABCD after a dilation of scale factor 3 centered at the origin.
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- Are the Image and Preimage congruent or similar?
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What is the ratio of the lengths between the Preimage & Image?
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—1 What is the ratio for the areas between the Preimage and Image?
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17. Rectangle ABCD has a perimeter of 16 units. Side AB is 3 units. ABCD is dilated to form
rectangle A'B'C’D’ where side A’B’ is 6.6 units.

What is the Scale factor? Show how you calculated it.

2eale
Scale Tactse = Weage bl o Faclol = A.A

"ﬁruW >

What is the perimeter of A'B’C’'D’? ?
= oAamne : e

%ﬁg@ A t scalefactor

What was the transformation? Describe the transformation in words.
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